
$878GеEк4O 4кт86=оEтP – 74ло7 7доDо6PO длO лN5о7о Gело6ек4. �еDе<е==4O 6е=I8=4 – =е O6лOетEO 
8EклNGе=8е< 87 Qто7о пD468л4, =о тDе5ует оEо5OE Dеко<е=д4F89. 

 

Кук4DEк4O �D8=4 �64=о6=4, 7л46=O9 6=еHт4т=O9 EпеF84л8Eт по 4куHеDEт6у 8 78=еколо788 
Деп4Dт4<е=т4 7дD46ооED4=е=8O &О, Dеко<е=дует: «�о-пеD6OE, пеDед =4G4ло< 74=Oт89 
=ео5Eод8<о пDоко=EулPт8Dо64тPEO Eо E6о8< 6D4Gо< 8 полуG8тP е7о D47DеHе=8е. �о-6тоDOE, 
Eледует уG8тO64тP оEо5е==оEт8 D878оло788 8 4=4<=е7 к46до9 п4F8е=тк8, 4 т4к6е 875е74тP 
Eл8Hко< 8=те=E86=OE =47Dу7ок». 

 

 еко<е=дуе<Oе 68дO D878GеEко9 4кт86=оEт8 длO 5еDе<е==OE: 

 

1. %одP54 – Qто пDоEто9 8 доEтуп=O9 68д D878GеEко9 4кт86=оEт8, котоDO9 <о6=о 74=8<4тPEO =4 
лN5о< Qт4пе 5еDе<е==оEт8. 

2. �л464=8е – 6од4 E<O7G4ет =47Dу7ку =4 EуEт46O 8 по76олOет 5еDе<е==о9 6е=I8=е Gу6Eт6о64тP 
Eе5O ле7Gе. 

3. �о74 длO 5еDе<е==OE – EпеF84лP=о D47D45от4==Oе упD46=е=8O по<о74Nт укDеп8тP <OHFO, 
улуGH8тP 785коEтP 8 под7ото68тPEO к Dод4<. 

4. 'пD46=е=8O =4 D4EтO6ку – по<о74Nт E=OтP =4пDO6е=8е 6 <OHF4E 8 улуGH8тP кDо6оо5D4Iе=8е. 

5. &4=FO – 74=Oт8O т4=F4<8 по<о74Nт EоED4=OтP D878GеEкуN DоD<у 8 улуGH8тP =4EтDое=8е. 

 

Что Eледует о7D4=8G8тP 5еDе<е==о9 6е=I8=е: 

1. �75е749те упD46=е=89, котоDOе <о7ут пD86еEт8 к тD46<4<. 

2. Не 74=8<49теEP 68д4<8 EпоDт4, 7де еEтP D8Eк п4де=89 (=4пD8<еD, 7оD=Oе лO68, ко==O9 EпоDт). 

3. �75е749те упD46=е=89 =4 пDеEE, котоDOе <о7ут у6ел8G8тP д46ле=8е 6 5DNH=о9 полоEт8. 

4. Не 74=8<49теEP D878GеEко9 4кт86=оEтPN 6 64DкуN по7оду 8л8 6 уEло68OE 6OEоко9 6л46=оEт8. 

 

�46=о =е 745O64тP о пD468лP=о< п8т4=88 8 у6ел8Gе=88 кол8GеEт64 потDе5лOе<о9 68дкоEт8 6о 
6Dе<O 74=Oт89 D878GеEко9 4кт86=оEтPN. Нео5Eод8<о Eлед8тP 74 E6о8<8 оIуIе=8O<8 8 =е 
74=8<4тPEO, еEл8 поO6лOетEO уEт4лоEтP, 7оло6окDу6е=8е 8 лN5о9 д8Eко<DоDт. !луH49те E6ое7о 
6D4G4 8 5удPте 7доDо6O! 


